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Most people agree that carbon emissions must be cut to help control global warming. However, deciding how to share the responsibility can be challenging, as there is always a cost involved.

International responsibility

The United Nations (UN) holds climate talks between all countries and tries to organise global deals for cutting carbon emissions. The aims of climate talks in 2015 include setting targets for reducing global carbon emissions that are to be met by 2020.

In the 2013 UN climate talks, China and India refused to accept ‘commitments’ to reducing carbon dioxide emissions. China and India believe that developed countries (such as the US, Japan and European countries) should make commitments to reduce emissions, while emerging economies (such as China, India, and African and South American countries) should only be expected to look for ways to do so.

1 Increasing carbon emissions is related to increasing industrialisation (factories, electricity generation and use of road vehicles). Explain why.
2 Increasing industrialisation is related to increasing wealth for a country and better living conditions for many of the people who live there.
a Suggest why the governments of China and India believe that developed countries should make commitments but emerging economies shouldn’t.

b Suggest why many governments of developed countries think that countries with emerging economies should make commitments to carbon emission reduction.

3 The cheapest electricity is usually generated from a country’s own natural resources (e.g. coal, oil, hydroelectric (from water) or nuclear). Explain why flexibility in the way countries set carbon emission targets is essential.

National responsibility

Electricity generation is the largest source of carbon dioxide emissions in the UK. Different ways of producing electricity release different amounts of carbon dioxide.
· Coal, gas and oil are the cheapest sources of electricity, but all are fossil fuels and so release a lot of carbon dioxide when burnt.

· Nuclear power stations produce almost no carbon dioxide. However, they are expensive to build and there are concerns over what to do with the dangerous nuclear waste that is produced.

· Renewable energy sources also produce no carbon dioxide. However, methods using wind and sunlight produce relatively small amounts of electricity compared with fossil fuels and nuclear power. For example, one nuclear power station produces more electricity than over 1000 wind turbines. Hydroelectricity, which needs large lakes or reservoirs, can be produced on a large scale but only a few places in the UK are suitable.

4 The UK Government sets targets for reducing carbon dioxide emissions to achieve UN goals.
c What do you think the UK Government should do to achieve the targets they set?

d What do you think industry should do to help achieve national targets?

e How should individual people be involved in achieving national targets?
f Remember that people make choices depending on how change will affect them and what they think is important. How could this cause problems for achieving national targets, and how could those problems be tackled?

I can…
· decide how responsibility for cutting carbon dioxide emissions should be shared.
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